Fingertip Facts

Year 1 - Autumn1l

| can count to 30.

By the end of this halfterm, children should knowthe following facts. The aim is for them
to recall these facts instantly.

Try using some of these
examples when counting:

5,6,7, 89 10, 11,12 Key Vocabulary
forwards

20 29 28 27 26 backwards
count on

%4, 25,20,27 ... count back




Fingertip Facts

Year 2 - Autumn 1

| know number bonds to 20.

By the end of this halfterm, children should know the followingfacts. The aim is forthem
to recall these facts instantly.

0+ 20=20
1+19=20
2+ 18=20
3+ 17=20
4+ 16=20
5+15=20
B+ 14 =20
7+13=20
B+12=20
9+ 11=20

20+0=20
19+1=20
18+ 2=20
17+ 3=20
16+4=20
15+5=20
14+ 6=20
13+7=20
12+ 8=20
11+9=20

20-0=20
20-1=19
20-2=18
W0-3=17
W-4=16
20-5=15
W-6=14
0-7=13
20-8=112
20-9=11

20-20=0
20-19=1
20-18=2
W0-17=3
W-16=4
20-15=5
W-14=6
W0-13=7
20-12=8
20-11=9

Key Vocabulary
Whatdo ladd to 5 to make 207
Whatis20take away &7
Whatis 3 less than 207

How many more than 16is 207

10+ 10=20 20-10=10

They should be able to answer these questions inany order, including missing number
questionse.g. 19+ )=200r 20-(_)=8.




Fingertip Facts

Year 3 - Autumn 1

| know number bonds for all numbers to 20.

By the end of this halfterm, children should know the followingfacts. The aimis for them
to recall these facts instantly.

2+89=11
J+8=11
4+7=11
5+6=11
J+09=12
4+8=12
5+7=12
E+6=12
4+9=13
5+8=13
B+ 7=13

L +0=14 Dampls of a fact family

f+B=14
7+7=14
§+0=15
7+B=15
7+9=1§
E+B=16
gs0=17
gs0=18

B+9=15
O+ 6=15
15-9=6
15-9=6

Eamiples of other facts

4+5=9

13+5=18
19-7=12

10-6=4

Key Vocabulary
Whatdo laddto 5 to make 197
Whatis1l7 take away 67
Whatis13 lessthan 157

How many more than&8is 117

What isthe difference between
9 andl3’

This listincludes the most challenging facts but children will need to learn all number
bonds for each number to 20(eg. 15+ 2= 17). Thisincludes related subtraction facts (e g.

17 —2 = 15).




Fingertip Facts

Year 4 - Autumn 1

| know number bonds to 100.

By the end of this halfterm, children should know the following facts. The aim is for them
to recall these facts instantly.

some examples:

60 + 40 = 100
40 + 60 = 100
100 —40 = 60
100 — 60 =40

75+ 25 =100
25 +75=100
100 -25 =75
100 —75 =25

37+ 63 =100
B3 + 37 =100
100 —63 =37
100 —37 =63

48 + 52 =100
52+ 48 =100
100 -52 =48
100 —48 =52

Key Vocabulary

What do | add to 65 to make
1007

What is 100 take away 67

What is 13 less than 1007
How many more than 98 is 1007

What is the difference between
89 and 1007

This listincludes some examples of facts that children should know. They should be able to
answer questions including missing number questions eg. 49+ {::l =100 or 100 — {:j =72




Fingertip Facts

Year 5 - Autumn1l

| know decimal number bondsto 1 and 10.

By the end of this halfterm, children should know the following facts. The aim is for them
to recall these facts instanthy.

some examples:

06+04=1 3.7+6.3 =10 Key Vocabulary

b2+06=1 6.3+3.7=10 Whatdo | addto 0.8 to make 1?
1-04=006 10-6.3=3.7 What is1take away 0.067
1-06=04 10-37 =63 Whatis1.3 less than 107

How many more than 9. 8is 107
0.75+0235=1 4B+52=10 What isthe difference between
025+075=1  52+48=10 dhefe 2 lia foL

1-0.25=0.75 10-52 =48

1-075=025 10-48 =52

This listincludes some examples of facts that children should know. They should be ableto
answer questions including missing number questions eg. 049+ I:] =10or 7.2 +|:] =10.




Fingertip Facts

Year 6 - Autumn1l

| know the multiplication and division facts for all times tables up to 12 x 12

By the end of this halfterm, children should know the following facts. The aim is for them
to recall these facts instantly.

Please see separate sheet forall times table facts.

Thisisachancefor Year & children to consclidate Key Vocabulary

their knowledge of multiplication and division facts What is 12 multiplied by 67
and to increase their speed of recall.

What is 7 times 87
What is 84 divided by 77

They should be ableto answer these questions inany order, including missing number
questionseg. 7= )=28or( )+6=7.

Children who have already mastered their times tables should apply this knowledge to
answer questions includingdecimalseg. 0.7 = )=42or )+ 680=07




